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Normal Distribution Table P(0 < z < a)
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Dave the jogger runs the same route every day. On several consecutive days, . 0.8:0.2881 10.2910 102939 56'2'9& 0.2995 0.3023 :0.3051 03078 10,3 i'és"ib'i}"égg
he recorded the number of steps he took using a pedometer, which range 0.9'03159 '0.3186 03212 03238 10.3264 103289 0.331510.3340 10.3365 0.3389 |
from 3103 to 3450. What sample size would you need to estimate Dave’s 1.0/0.3413 0.3438 [03461 10.3485 10,3508 10.3531 10,3554 (0.3577 [0.3599 10,3621
mean steps with 95 percent confidence and an error of +25 steps? Explain 1.1:0.3643 10.3665 103686 /0.3708 0.3729 '0.3749 103770 0.3790 10.3810 |0.3830
your assumption about . 1.2°0.3849 0.3869 0.3888 ,0.3907 0.3925 0.3944 03962 0.3980 0.3997 0.4015 |
Find the standard normal area for each of the following, showing your 1.3 0.4032 10,4049 (0.4066 0.4082 0.4099 0.4115 10413104147 0.4162 |0.4177
reasoning clearly. (a). P(-1.22 <Z <2.15) (b). P(-3.00 <Z < 2.00) 1.410.4192::0.4207 04222104236 (0.4251 0.4265 0.4279 0.4292 10.4306 '0.4319
(c). P(Z <2.00) (d). P(Z = 0) 1.5 0.4332 04345 0.4370 [0.4382 0.4394 0.4406 04418 04429 0.4441
On the midnight shift, the number of patients with head trauma in an 1.6 04457 0‘_‘ 4463 104474 {04495 0.4505 04515 104525 0.4535 04545
emergency room has the probability distribution shown below. (a). Calculate f'i‘“_;,' 0.4554 o456 04582 10.4591 '6.4595 0 4608 09616 ‘0. 4625 0 4633
the mean and standard deviation. (b). Describe the shape of this distribution. :1.3 0.4641 10,4649 0 4656 0.4664 10.4671 0. '
X 0 ! 2 3 4 5 | Total 1.9 ;O.4713 104719 10.4726 10.4732 0.4738 10,474

P(x) 0.05 0.30 0.25 0.20 0.15 0.05 1.00 2.0 ,0.4772 0.4778 0. 10.4788 '0.4793 '0.4798

Procyon Mfg. produces tennis balls. Weights are supposed to be normally 2104821 04826 0.4830 2'5'."483 4104838 0.4842 0

2 04861 :0.4864 |0.4868 0.4871 |0.4875 -'0.'4378;04881 0.4884 | 04887 04890"
50'4896 104898 [0.4901 10,4904 10.4906 0.4909 104911 [0.4913 50.4916'
8 0.4920 10.4922 [0.4925 0.4927/0.4929 04931 04932 [0.4934 [0.4936

distributed with a mean of 2.035 ounces and a standard deviation of 0.002
ounces. A sample of 25 tennis balls shows a mean weight of 2.036 ounces.
At o.= 0.025 in a right-tailed test, is the mean weight heavier than it is

supposed to be?. 2504938 0.4940 0.4941 |0.4943 0.4945 04946 0.4948 04949 (04951 |0.4952
Until 2005, the UPC bar code had 12 digits (0-9). The first six digits 2.6 10.4953 0.4955 10.4956 0.4957 0.4959 0.4960 04961 0.4962 . 4963 104964
represent the manufacturer, the next five represent the product, and the last 2.7 /0.4965 04966 [0.4967 0.4968 '0.4969 .0.4970 0.4971'0.4972 [0.4973 [0.4974
is a check digit. (a) How many different manufacturers could be encoded? 51_3'50;4974 go;;;gjg'f" 4976 10.4977 0.4977 10,4978 10.4979 :0.4979 J0.4980 [0 4981
(b) How many different products could be encoded? (c) In 2005, the EAN ?"i.'i)'5'6.4'98'1“;6’.4982"'%"'.1@&5%ii}ibéé"f”""".'lféis'i%d#%d 0.4985 04985 [0.4986 f0.4986€

bar code replaced the UPC bar code, adding a 13™ digit. If this new digit is 3.0 10.4987 .0.4987 0.4987 [0.4988 0.4988 0.4989 0.4989 0.4989 |0.4990 |0.4990
used for product identification, how many different products could nowbe SRR ' T e : -

encoded?





